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THOUGHT OF THE DAY

your life, no
one can do
it for you




WORD OF THE DAY

TUSSLE

(NOUN): (&EW): scuffle

Synonyms: fight, struggle

Antonyms: accord




WORD OF THE DAY IMAGE




ERROR DETECTION f
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1.While these schools have/ 2) a strong

traditional hold, the reason for / 3) forming a

consortium in India is to encourage / 4)
cultural diversity for their institutes. / 5) No

€rror.

Answer: (d).

Replace “ for” with “ in”




2. As the prison will get /2) an official

QUESTIONS

|
|

telephone facility soon, the prisoners/
3)won’t have to make calls in discreet
manner/ 4) through smuggled mobile phones
./ 5) No error

Answer: (¢)

Put ‘a’ before ‘discreet’
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I 'SBI/ IBPS PREVIOUS QUESTIONS

3. The fight among/ 2) rival candidates

between the medium / 3) of catchy

slogans/ 4) has started. / 5) No error.

Answer: (b)

Replace “between ” with “ through”




4. I remember my childhood days (1)/ when I
was used to go (2)/to the farm with my father
(3)/ and help him in his work (4)/ No error (5)

Answer: (A)
Replace “remember £ with

“remembered”
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'SBI/ IBPS PREVIOUS QUESTIONS

S. This group of (1)/ rural achievers is
very (2) / different than the (3)/ ones in
the past (4)/ No Error (5)

Answer: (A)

Replace “than ” with “from”




Phrase Replacement




Afghanistan on ways to boost bilateral
trade and investment.
a) Holding

b) Held

¢) Holds

d) Holded

e) No improvement is required

Answer: e) No improvement is

required



7. The Delhi Police has arrested three men
in their early 20s who are believed to be the
hands behind a spate of robberies in city
schools, including some prominent ones.

a) have arrest

b) have arresting

¢) have arrested

d) has arresting

e) No improvement is required

Answer: ¢) have arrested
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| SBI/IBPS PREVIOUS YEAR QUESTIONS

8. A study has found that smoking cause one

ﬂ )

in
ten deaths worldwide in 2015.
a) smoking causing

b) smoked caused

¢) smoke causing
d) smoking caused

e) No improvement is required

Answer: d) smoking caused




9. A.B. de Villiers may have take a long
break from Test cricket, but it is clear he
still holds the format in high regard.
a) have taken

b) has taken

¢) Had taken

d) has took

e) No improvement is required

Answer: a) have taken



10. A special memorandum of

QUESTIONS

understanding on training in Bangladesh
military personnel is also included on the
agenda.

a) on training of

b) of training of

¢) in training to
d) on training to

e) No improvement is required
Answer: a) on training of




STARTERS & CONNECTORS




11. He was unwilling to go any further. He
returned home.
(i) Returning home....
(ii) Unwilling to go.....

(iif) To go any further.....
A) Only (i) 00 :40 |

B) Only (ii)
C) Only (iii)

D) Both (i) and (ii) Option B
Explanation: From (ii) Unwillin

E) None of these o M) s
to go any further, he returned

home.




12.They saw the uselessness of violence. They

changed their policy.
(i) Seeing the uselessness.... nn 40
(ii) Changing their policy.... f

(iii) See the uselessness.....

A) Only (i)

B) Only (i)

C) Only (iii) Option A

D) Both (l) and (ll) Explanation: From (i) Seeing the

uselessness of violence they
E) None of these

changed their policy




13.He lost a large sum of money. He gave
up speculation.
(i) Giving up speculation.....
(ii) Large sum of.... ,
(1ii) Loosing a large.... 00 40
A) Only (i)
B) Only (ii)
C) Only (iii) Option C
D) Both (i) and (iii) Explanation: From (i)
E) None of these Loosing a large sum of

money, he gave up

speculation



14.The hunter took up his gun. He went out

to shoot the lion.
(i) Taking up his.....
(ii) Took his gun....

(iii) Shooting the lion.....

A) Only (i)

B) Only (ii)

C) Only (iii)

D) Both (i) and (iii)
E) None of these

Option A

Explanation: From (i) Taking
up his gun, the hunter went
out to shoot the lion



15.A crow stole a piece of cheese. She flew to
her nest to enjoy the tasty meal.
(i) Flying to steal.....

(ii) Stealing a piece.....

(ili) Enjoying the tasty......
A) Only (i)

B) Only (ii)

C) Only (iii) Option B

D) All Explanation: From (i)
E) None of these Stealing a piece of cheese, a

crow flew to her nest to enjoy
the tasty meal.




SPELLING ERRORS




16. The Principle (a) insisted that the
teachers (b) set an example (¢) for the
students. (d) All correct (e)

Ans. a

Exp. ‘Principal’ means a chief or head




17. All drivers(a) must carry (b) their
lisense (¢) and insurance papers (d) All

correct (e)

AnS. ¢

Exp. The correct spelling is ‘license’.




18. Children (a) normally respond (b) to

praise (c¢) and encoragement. (d) All correct

(e)

Ans. d
Exp. The correct spelling of the word

is ‘encouragement’.




19. The mountain (a) range (b) has many high
peaks (¢) and deep canyones. (d) All correct (e)

Ans. D Exp. The error is in part (d) as the correct
spelling of the word is ‘canyons’. Canyons means a

deep valley with steep sides, often with a stream flowing
through it.



20. Modern (a) farm implements (b) have
revolusionised (c¢) the agricultural industry. (d)
All correct (e)

Ans. ¢
Exp. The error is in part (c) as the correct

spelling of the word is revolutionized .




HOME WORK ANSWER

Some psychologists maintain (a) / that a

child who has seen violence (b) /on
television is more likely to react (c) /
violent In situations of stress. (d) / No

error (e).



The unlikely migration (a)/ was officially (b)/
explained as a move to meet expanding (c)/

business opportunities. (d)/ All correct (e).







